(9) REHKEHRE
7 RENBKHAEMR

1 T2 FEREHKERERR (EETHE)

" ) ‘ _ 3 5 3= ) ‘3%5?51111,,#\
BKEKH )i e BRI R 14 FHE | BOKES | BEETY
(H26 5 ) (H17~26)
KZE (m) 6.1 5.3 12.2 1.9 1.9 6.7 12.2
BEAE (m) 2.4 2.1 2.0 2.2 2.3 2.3 2.5
pH 7.8 1.9 7.8 7.8 7.9 7.8 8.0
DO (mg/L) 8.5 8.7 8.8 8.7 10.7 8.9 10.2
COD (mg/L) 4.1 4.2 4.4 4.2 4.0 4.0 3.8
BOD (mg/L) 1.1 1.5 1.4 1.3 1.3 1.4 1.1
SS (mg/L) 2.1 2.1 2.4 2.2 3.1 2.1 3.5
T-N (mg/L) 0.42 0.42 0.45 0.43 0.34 0.41 0.33
T-P (mg/L) 0.030 0.034 0.038 0.034 0.024 0.034 0.024
ham74h-a (ug/L) 10.5 12.17 18.5 13.9 12.8 12.0 12.1
EC_(mS/m) 8.8 9.1 9.9 9.2 10.8 10. 1 11.0
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D REWKERERR (TR 2T E£E)
HKEAR H27.5.18 | H27.8.17 |H27.11.16| H28.2.17 2xiE | 2aE | EuE
B K B % 9:50 9:55 9:40 9:51
. 8 8 8 &
R (°c) 19.8 26. 1 18.2 1.0 26. 1 1.0 16.3
2 KR (m) 6.0 5.5 6.3 6.5
ERE (m) 3.8 1.6 1.8 2.3 3.8 1.6 2.4
- KR (°c) 22.2 31.4 15.6 8.6 31.4 8.6 19.5
I'EER pH (KRAXVEE) 1.4 9.2 1.4 1.2 9.2 1.2 1.8
DO (BFEREER) (mg/L) 8.6 7.8 1.4 10.2 10.2 1.4 8.5
DOfafNE (REEFMME) (%) 101 105 11 90 105 11 93
c0oD UesMBRERE) (mg/L) 2.7 5.5 4.6 3.6 5.5 2.7 4.1
BOD (entrorrExs)  (mg/L) 0.4 1.6 1.9 0.5 1.9 0.4 1.1
SS (R HYES) (mg/L) 0.8 2.0 3.4 2.3 3.4 0.8 2.1
T-N (2EHR) (mg/L) 0.18 0.47 0.60 0.41 0. 60 0.18 0.42
. T-P (2YA) (mg/L) 0.011 0.030 0.048 0.031 0.048 0.011 0.030
i% NH4-N (FUE=TRER) (mg/L) 0.01 <0. 01 0.07 0. 01 0.07 <0. 01 0.023
?énﬁn NO2-N (BRFHRRREERR)  (mg/L) <0. 001 <0. 001 0.007 0. 001 0. 007 <0. 001 0.002
NO3-N (FHFEREER) (mg/L) <0. 01 <0. 01 0.15 0.05 0.15 <0. 01 0.05
P04-P (WABEREY A)  (mg/L) <0. 003 <0.003 0.015 0. 006 0.015 <0.003| 0.005
hAn74la (ug/L 2.6 21.0 13.6 4.9 21.0 2.6 10.5
% han74lb (ug/L 0.6 0.7 0.7 0.5 0.7 0.5 0.6
o han74he (ueg/L <0.1 <0.1 0.7 0.1 0.7 0.1 0.2
P =Y (ug/L 0.9 2.1 17.0 3.7 17.0 0.9 5.9
;C) Cl— UEEMAA>)  (mg/L) 8.4 8.3 8.1 1.9 8.4 1.9 8.2
f EC (BESImEE) (mS/m) 9.6 9.0 9.2 1.4 9.6 7.4 8.8
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®oK - e

RIEEHR

R I 3t 7 AEHE S BEMESHERRE LS —
BXKEAHB H27.5.18 | H27.8.17 |H27.11.16| H28.2. 17 N TN T 0E
K B 721 10:10 10:04 9:48 10:07
R (°c) 19.8 26. 1 18.2 1.0 26. 1 1.0 16.3
2 KE (m) 5.3 4.8 5.5 5.7
BHE (m) 3.6 1.5 1.3 2.1 3.6 1.3 2.1
—n Kig (°c) 22.2 31.4 15.6 8.4 31.4 8.4 19.4
15 pH (KFEAFVRE) 1.6 9.3 1.4 7.3 9.3 7.3 1.9
DO (BHEMR) (mg/L) 8.8 1.9 1.5 10.6 10.6 1.5 8.1
DO #0 & (BEBMREBAME) (%) 104 106 78 93 106 78 95
coD ULEMBRERS) (mg/L) 2.6 5.8 4.9 3.3 5.8 2.6 4.2
BOD (emiezmmrEss)  (mg/L) 0.9 2.2 2.2 0.6 2.2 0.6 1.5
SS (FEHES) (mg/L) 0.8 2.2 3.4 2.1 3.4 0.8 2.1
T-N (2ER) (mg/L) 0.20 0.54 0.63 0.30 0.63 0.20 0.42
. T-P (2Y A) (mg/L) 0.013 0. 037 0. 055 0.029 0. 055 0.013 0.034
% NH4-N (FUEZTERER) (mg/L) 0.02 <0. 01 0.07 <0. 01 0.07 <0. 01 0.02
% NO2-N (HIEMEESR) (mg/L) <0. 001 <0. 001 0.008 0. 001 0.008 <0. 001 0.002
NO3-N (FHFEREZER) (mg/L) <0. 01 0. 01 0.13 0.06 0.13 0. 01 0.05
P04-P (YAREREY A) (mg/L) <0.003 <0. 003 0.013 0. 006 0.013 <0.003 0. 005
hoo7qla (pug/L 2.4 24.9 18.3 5.1 28.0 2.4 12.7
% 4Ba74lb (pg/L 0.6 1.9 0.5 0.8 1.9 0.5 1.0
o JaR74lc (pg/L 0.9 <0.1 0.5 0.8 0.9 <0.1 0.6
JiFx6BH (pg/L 1.4 3.4 17.0 3.2 17.0 1.4 6.3
0%) Cl— (R a1A ) (mg/L) 8.5 8.2 8.1 7.8 8.5 7.8 8.2
® e (BEEEE)  (3/m) 9.6 | 101 9.2 73] 101 7.3 0.1
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%K% A B H27.5.18 | H27.8.17 [H27.11.16] H28.2.17 | o v | & m | T
5% 7K B % 10:10 | 10:12 9:55 10:17
SR c) 19.8 26. 1 18.2 1.0 26. 1 1.0 16.3
2 KE (m) 12.1 11.5 12.5 12.6
LS (m) 2.8 1.5 1.2 2.5 2.8 1.2 2.0
— |x& c) 22.3 31. 1 15.6 8.4 31. 1 8.4 19.4
1
IEE pH (KFEA A RE) 7.4 9.2 7.4 7.3 9.2 7.3 7.8
DO GEEME) (mg/L) 8.8 8.3 7.8 10.4 10.4 7.8 8.8
DOMARIE  CAEBEMAME) (%) 104 112 81 101 112 84 99
coD UeEMEEERE) (mg/L) 2.6 5.7 5.9 3.3 5.9 2.6 4.4
BOD (EmernmzErn  (mg/L) 0.3 2.1 2.3 0.8 2.3 0.3 1.4
ss CREEMEE) (mg/L) 1.0 2.0 4.7 1.9 4.7 1.0 2.4
T-N (2EF) (mg/L) 0.19 0.53 0.74 0.32 0.74 0.19 0.45
e (2YA) (mg/L)] 0012 | 0034 | o0075| 0031 | 0075| 0012] 0038
j%: NH4-N (7 E=THES (mg/L) 0.01 <0.01 0.07 <0.01] 0.07 <0.01|  0.02
5 |Noz-n (BREEZESR)  (mg/L]  <0.001| <0.001| 0.008 0.001| 0.008 | <0.001| 0.002
NO3-N (MERHEER) (mg/L) <0.01 <0.01 0.13 0.05] 0.13 <0.01|  0.05
P04-P (YABEEYA)  (mg/L)| <0003 <0.003] 0015 | 0006| 0015 | <0.003] 0 005
y0074ba (ueg/L 2.8 27.1 40.2 4.0 40.2 2.8 18.5
;% H0074Mb (ug/L 0.8 1.5 0.3 0.4 1.5 0.3 0.8
R L yanyane (peg/L 1.4 <0. 1 2.6 0.3 2.6 <0. 1 1.1
JrAEE (ueg/L 0.3 2.2 28 8 1.9 28.8 0.3 8.3
;C) Cl— (&ML A>)  (mg/L) 8.5 8.3 8. 1 7.8 8.5 7.8 8.2
e (BEEEEE) (mS/m) 9.6 10.4 9.3 10,1 10.4 9.3 9.9

160 -




Bk - ALIRIREBR

B BRHR G m R S BEMBBHERELL 5 —

BAKERH H27.5.18 | H27.8.17 |H27.11.16| H28.2.17 2xis | 2anE | TuE

KB %I

Xz

[R (°c)

£KE (m)

BHE (m)
ﬁ_g KR (°c) 19.8 22.6 15.2 8.2 22.6 8.2 16.5
IIEE pH KFEAXVRE) 1.4 1.4 1.4 1.3 1.4 1.3 1.4

DO (BHEEHR) (mg/L) 8.9 3.1 1.3 11.2 11.2 3.1 1.6

DO 1 (RFEBRANE) (%) 100 37 75 98 100 37 78

coD (UEZHBMEERE) (mg/L) 2.6 4.5 4.5 3.3 4.5 2.6 3.7

BOD (epleemmrERs)  (mg/L) 0.3 1.3 1.3 0.5 1.3 0.3 0.9

SS (FEYMES) (mg/L) 1.4 4.6 4.4 2.5 4.6 1.4 3.2

T-N (22 %K) (mg/L) 0.25 0.42 0. 66 0.39 0. 66 0.25 0.43
. T-P (Y A) (mg/L) 0.014 0.048 0.047 0.032 0.048 0.014 0.035
1% NH4-N (FUEZTEER) (mg/L) 0.02 0.03 0.08 0.01 0.08 0.01 0.04
ﬁ NO2-N (ERFHFRREERR)  (mg/l) 0.002 <0. 001 0.007 0.001] 0.007 <0.001] 0.003

NO3-N (FHEEREZER) (mg/L) 0.03 <0. 01 0.14 0.05 0.14 <0. 01 0.06

P04-P (WABEEEY A) (mg/L) 0.003 0. 006 0.013 0.007 0.013 0.003 0. 007

han74la (ug/L 2.8 13.2 13.2 3.5 13.2 2.8 8.2
2 haa74Ib (ueg/L 0.9 6.0 0.5 0.6 6.0 0.5 2.0
a yoa74lc (ug/L 0.3 4.1 0.2 0.5 4.1 0.2 1.3

JIABE%H (peg/L 1.8 11.0 23.9 7.8 23.9 1.8 11.1
0%) Cl— GEEMm1A>) (mg/L) 8.6 8.4 8.2 1.9 8.6 1.9 8.3
fi EC (BEREEE) (mS/m) 12.2 14.6 11.3 11. 6 14. 6 11.3 12.4
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BoK - MARESHR

R RRER B B S BEMESHERE LY S —

BXKEHH H27.5.18 | H27.8.17 |H27.11.16| H28.2. 17 BXiE BB i

B K B %

X iz

TR (°c)

2KE (m)

BEARE (m)
—n KR °c) 15.4 20.3 15.2 8.0 20.3 8.0 14.7
IIEER pH (KBAXVIRE) 7.1 1.0 7.4 1.3 1.4 7.0 1.2

DO (BHEE%R) (mg/L) 5.9 3.1 1.2 11.3 11.3 3.1 6.9

DOfaFNEE (CAEEARMME) (%) 61 35 14 99 99 35 67

coD UL eBRERES) (mg/L) 2.6 4.1 4.4 3.4 4.4 2.6 3.6

BOD (entrorrExs)  (mg/lL) 0.4 1.4 0.8 0.5 1.4 0.4 0.8

SS (ZHEYMES) (mg/L) 2.8 10. 5 5.0 2.1 10. 5 2.1 5.1

T-N (2EH) (mg/L) 0.35 0.51 0. 61 0.35 0.61 0.35 0.46
. T-P (2YA) (mg/L) 0.031 0.125 0.042 0.030 0.125 0.030 0. 057
i% NH4-N (FUEZTHRER) (mg/L) 0.15 0.16 0.08 0.01 0.16 0.01 0.10
% NO2-N (EHBMEESR) (mg/L) 0. 001 0. 001 0. 007 0. 001 0. 007 0. 001 0.003

NO3-N (FHFEREER) (mg/L) <0. 01 <0. 01 0.14 0.05 0.14 0. 01 0.05

P04-P (YWABEREY A) (mg/L) 0.012 0.018 0.014 0.007 0.018 0. 007 0.013

yoa74la (pg/L 2.6 9.1 6.0 3.6 9.1 2.6 5.3
% 4Ba74lb (ug/L 0.5 15.2 0.4 0.5 15.2 0.4 4.2
= 4an7 4l (ug/L 0.7 19.1 0.4 0.5 19.1 0.4 5.2

=TS (ueg/L 2.1 11.4 12.3 5.7 12.3 2.1 7.9
f) Cl— UEema1A V) (mg/L) 8.0 8.6 8.2 1.9 8.6 1.9 8.2
ft EC (BERIEEE) (mS/m) 141 17.5 12.5 12.5 17.5 12.5 14.2
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R Bk AR Zi?; g%figiﬁgﬁ)}%t o B —
BKEAHB H27.5.18 | H27.8.17 |H27.11.16| H28.2. 17 B BN E TiiE
BRKEFZI 10:45 10:34 10:35 10:40
X iz = £ 2 )
R (°c) 19.8 26. 1 18.2 1.0 26. 1 1.0 16.3
2 KE (m) 6.6 6.4 6.9 6.9
BAE (m) 4.0 1.4 1.6 2.3 4.0 1.4 2.3
—n Kig (°c) 22.5 30.8 16.0 1.9 30.8 1.9 19.3
Ilaij pH (KFAXVIEE) 1.4 9.1 1.4 1.4 9.1 1.4 1.8
DO (BHEER) (mg/L) 9.0 8.0 1.2 11.4 11.4 1.2 8.9
DOga #0 (BfrBRfafnE) (%) 106 108 15 99 108 15 97
coD ULEMBRERE) (mg/L) 2.6 5.7 4.3 3.2 5.7 2.6 4.0
BOD (epiegnmrErs)  (mg/L) 0.4 2.8 1.5 1.0 2.8 0.4 1.4
SS (FYES) (mg/L) 1.0 2.2 3.0 2.1 3.0 1.0 2.1
T-N (£EEHR) (mg/L) 0.21 0.55 0.56 0.30 0.56 0.21 0.41
. T-P (2YA) (mg/L) 0.013 0.047 0.045 0.030 0.047 0.013 0.034
i% NH4-N (FUE-THER) (mg/L) 0.01 <0. 01 0.07 <0. 01 0.07 <0.01 0.02
£En NO2-N (EHBEESR) (mg/L) <0. 001 <0. 001 0.008 0. 001 0.008 <0. 001 0.002
NO3-N (FHFEREZER) (mg/L) <0. 01 <0. 01 0.15 0.05 0.15 <0. 01 0.05
P04-P (YABEEELY A) (mg/L) <0. 003 0.003 0.014 0.007 0.014 <0. 003 0. 006
han7{la (ug/L 2.9 31.0 10.5 3.1 31.0 2.9 12.0
S%t han74hb (pg/L 0.5 3.6 0.3 0.9 3.6 0.3 1.3
= 4ma74lc (pg/L <0.1 <0.1 1.3 0.7 1.3 0.1 0.7
JzABEE (ug/L 1.2 4.0 14.3 2.2 14. 3 1.2 5.4
0%) Cl— GEleMmAA>)  (mg/L) 8.4 8.3 8.2 7.8 8.4 1.8 8.2
ﬂb’ EC (ERIEEE) (mS/m) 10. 0 10. 5 9.7 10. 0 10. 5 9.7 10. 1
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(10)

BOHKERAE

7 BEOHKEREMR

230
ROHE
/ wen
s W 4
TR J . x® ’
‘; % _zum /s 4
% ‘* Q{a}” 2
W &3 /3
* 1}’ N ) §s RE|R|
# Ay 4
aze a¥xg ‘/
P Vo EOM . ;
¥ 6 ®20 /
° L
@ 3 x
5 o' W7
€ W 4
R %%/
LY 4
an " O wr
N n ’
”
'
”
,’ @ mELS
9,
a9, |
14 FDHPREIPKEREHR
mE | me a5 L& (No. 3) HEESL
=4 YA
1840 | 1940 FE 204 i |21 4 E | 204 i |23 i | 244 i | 254 i 2648 i |27 e | EVARME
b H - 76| 74| 74| 73| 79| 75| 79| 78 771 77| 65~85
DO |mg/i 88| 95| 86| 115| 94| 92| 100| 99| 102 97 >75
BOD |mg/l 33| 32| 28| 39| 24| 20| 20| 19 1.7 24| 2~3
cCoD|mg/i 56| 56| 56| 56| 52| 54| 53| 62 57 69| 3~4
T—N|mg/i 20 17| 16| 18| 20| 18| 17| 15 1.6/ 1.9 1
T—pP|mg/t | 0087] 0.086| 0.081| 0.080| 0.097| 0.085| 0.095| 0.12| 0.099| 0.15| 0.05~0.06
SSs |mg/i 18 14 19 13 16 16 17 27 24 36| <10
FEHE|! 07| o7 o8| o8| 06| 07| 07| o04 05| 04 >1
X1 FRI9EEFETIEEI2E.,. FR20EENMNSE 4 RRAEDHER
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DK ERERR (Fk 27 FE)

i B BETEEEBER
th = No.1 (GZHEEHRMA) R
S EEMBENERE LY 4 —

REBE 5A188| 8A17H| 11A168| 2228 _ -

BROKEFZ 11:25 11:16 11:20 11:20 "X el s

P 3 ] ] & ]

KR c) 24.0 31.3 215 6.1

RELK R (m) 0.5 0.5 0.5 0.5

2KR (m) 2.0 1.6 1.8 1.8

BRE (m) 0.5 0.5 0.3 0.3 0.5 0.3 0.4
—| XkE cc) 20.5 26.3 15.0 8.1 26.3 8.1 17.5
I'é p H 7.3 75 7.3 7.3 75 7.3 7.4
B| po (mg/L) 75 8.0 8.5 10.9 10.9 75 8.7

DO (%) 86 97 87 96 97 86 92

cCoOD (mg/L) 6.5 7.1 5.3 6.4 7.1 5.3 6.3

BOD (mg./L) 1.8 3.3 1.6 1.0 3.3 1.0 1.9

SSs (mg/L) 32 21 19 40 40 19 28

RKEG&HE (MPN/100mL)] 4.9E+03 | 7.9E+04 | 3.5E+04 | 1.3E+03 79E+04| 1.3E+03| 3.0E+04

NH,—N (mg/L) 0.11 0.06 0.17 0.17 0.17 0.06 0.13

NO,—N (mg L) 0.023 0.019 0.022 0.012 0.023 0.012 0.019
%| NO3—N (mg/L) 0.89 0.90 2.2 1.4 2.2 0.9 1.4
E Org-N (me/L) 0.63 0.72 0.56 0.42 0.72 0.42 0.58
| T-N (mg/L) 1.7 1.7 3.0 2.0 3.0 1.7 2.1

PO,—P (mg/L) 0.039 0.042 0.029 0.038 0.042 0.029 0.037

T—P (mg/L) 0.20 0.17 0.096 0.16 0.20 0.096 0.16

hnn7{ha (Mg/L) 14 43 6.6 7.2 43 6.6 18
8| sonaab (L) 2.0 11 1.3 0.6 11 0.6 37
Z hna74he (Mg L) 0.4 <0.1 0.9 1.9 1.9 <0.1 0.8

JrAeR (el 6.4 14 5.2 14 14 5.2 10

cl- (mg/L) 15 12 18 14 18 12 15
| Fe (mg/L) 1.2 0.81 0.99 1.7 1.7 0.81 1.2
fé D—Fe (mg/L) 0.07 0.08 0.06 0.10 0.10 0.06 0.08

EC (mS./m) 18.0 13.8 21.0 17.7 21.0 13.8 17.6
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i K - RILTIREEB
R No.3 (HFREZIEE) &R
ST BEHMBENEFREL 42—
RAEARH 5H18H| 8HA17H| 11A168| 2A22H
PN &=/ F i

Rk 10:50 10:42 10:55 10:44

PN S = = & )

SR cc) 24.0 315 235 6.1

RELK R (m) 0.5 0.5 0.5 0.5

2KE (m) 2.6 1.6 1.8 2.2

BEHRE (m) 0.5 0.4 0.2 0.3 0.5 0.2 0.4
—| KB cc) 19.2 28.1 16.0 7.7 28.1 7.7 17.8
fé p H 7.4 8.5 75 7.4 8.5 7.4 7.7
B| po (mg./L) 8.1 10.3 8.8 11.4 11.4 8.1 9.7

DO (%) 90 133 92 99 133 90 104

cCOoD (mg/L) 5.7 9.2 6.7 6.1 9.2 5.7 6.9

BOD (mg/L) 1.9 4.8 2.0 0.9 4.8 0.9 2.4

Ss (mg/L) 24 28 41 49 49 25 36

K&  (veNaoomu)| 3.3E+02 | 1.3E+03 | 1.4E+04 | 2.4E+02 | 1.4E+04| 2.4E+02| 4.0E+03

NH,—N (mg/L) 0.04 <0.01 0.26 0.06 0.26 <0.01 0.09

NO,—N (mg-L) | 0.016 0.014 0.020 0.010 0.020 0.010 0.015
#| NOg—N (mg/L) 0.85 0.19 1.6 1.3 1.6 0.2 1.0
E Org-N (mg./L) 0.55 1.2 0.75 0.49 1.2 0.49 0.76
F| T-N (mg/L) 1.5 1.4 26 1.9 2.6 1.4 1.9

PO,—P (mg-L) | 0037 0.028 0.029 0.038 0.038 0.028 0.033

T—P (meg./L) 0.12 0.18 0.13 0.16 0.18 0.12 0.15

pnoz4ha (Mg L) 14 129 16 8.4 129 8.4 42
81 sooyab mesL) 1.7 36 1.6 13 36 1.3 10
z hmazqhe (Mg /L) 2.0 <0.1 0.4 1.3 2 <01 0.9

JrABR  (He/L) 7.0 51 21 18 51 7.0 24

cl- (mg/L) 16 15 18 15 18 15 16
| Fe (mg/L) 0.82 0.75 1.2 1.2 1.2 0.75 0.99
Z; D—Fe (mgsL)| <005 0.05 <0.05 0.09 0.08 <0.05 0.05

EC (mS./m) 19.0 16.7 20.2 18.3 20.2 16.7 18.6
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®K: BEIREEHR

Hh s No.5 (dLZ2EIR) 7 2 1 B
AT BEMBENEFEEL S —
AEAR 5A18H| 8HA17H| 11A168| 2H22H
&KX &=/ T15

BRoKEFZI 10:00 9:55 9:55 10:00

P 3 ] & i &

) cc) 27.0 29.5 21.2 6.0

REKE (m) 0.5 0.5 0.5 0.5

2KFE (m) 12 0.8 1.0 0.9

BHE (m) 0.5 0.5 0.4 0.2 0.5 0.2 0.4
—| k& cc) 20.0 23.8 14.0 8.5 23.8 8.5 16.6
I; p H 7.2 7.1 7.3 7.2 7.3 7.1 7.2
B| po (mg./L) 7.9 6.0 7.6 10.3 10.3 6.0 8.0

DO (%) 20 77 76 91 91 76 84

cCoD (mg/L) 4.3 5.8 5.2 6.9 6.9 4.3 5.6

BOD (mg./L) 0.8 1.6 0.6 0.8 1.6 0.6 1.0

S (mg/L) 14 28 16 47 47 14 26

KiBE  (VPNoomL)| 1.7E+03 | 2.4E+05 | 9.2E+04 | 3.3E+03 | 2.4E+05| 1.7E+03| 8.4E+04

NH;—N (mg L) 0.08 0.07 0.13 0.11 0.13 0.07 0.10

NO,—N (mg L) 0.015 0.011 0.018 0.016 0.018 0.011 0.015
#2| NO3—N (mg L) 1.1 0.7 2.3 1.2 2.3 0.7 1.3
E Org-N (mg/L) 0.32 0.55 0.43 0.50 0.55 0.33 0.45
B T-N (mg/L) 1.5 1.3 29 1.9 2.9 1.3 1.9

PO,—P (mg/L) 0.031 0.056 0.036 0.048 0.056 0.031 0.043

T—P (mg/L) 0.099 0.16 0.10 0.17 0.17 0.099 0.13

hnn7{ha (Mg L) 5.0 5.2 15 33 5.2 15 3.8
B smm740b (Mg/L) 1.9 0.7 0.1 0.2 1.9 0.1 0.7
f hra7{he (Mg L) 1.7 <01 0.6 <01 1.7 <01 0.6

JrABE  (HesL) 2.7 4.8 4.0 12 12 2.7 5.8

ci” (mg/L) 12 6.7 14 11 14 7 11
T | Fe (mg/L) 0.71 0.87 0.70 1.2 1.2 0.70 0.88
fé D—Fe (mg./L) <0.05 0.08 0.06 0.12 0.12 <0.05 0.08

EC (mS./m) 17.0 6.7 32.4 15.4 32.4 6.7 17.9
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i B BEETIBE R
h = No.6 (i Hi&R) & HE
oH EEMBEREHEEY 4 —
AEB 5H18H| 8H17H| 11A16H| 2A22H
&K &=/ 1y

BoKEEZ 10:25 10:20 10:20 10:20

P 3 & & i &

KR cc) 26.5 27.1 21.2 8.2

R ELK R (m) 0.5 0.5 0.5 0.5

2KE (m) 2.8 2.4 25 25

BHE (m) 0.7 0.4 0.3 0.3 0.7 0.3 0.4
—| K& cc) 20.0 26.2 13.8 8.6 26.2 8.6 17.2
I'é p H 75 7.7 75 7.4 7.7 7.4 75
B| po (mg/L) 9.2 7.1 8.4 11.2 11.2 7.1 9.0

DO (%) 105 90 84 99 105 84 95

cCoD (mg./L) 5.2 7.0 5.7 5.6 7.0 5.2 5.9

BOD (mg./L) 2.4 3.1 1.7 <05 3.1 <05 1.9

Ss (mg./L) 15 31 35 35 35 15 29

KEE  (MPN/10OmL)| 2.4E+03 | 1.3E+05 | 1.4E+04 | 3.3E+02 | 1.3E+05| 3.3E+02| 3.7E+04

NH,—N (mg/L) 0.02 0.01 0.18 0.04 0.18 0.01 0.06

NO,—N (mg- L) | 0.015 0.009 0.017 0.010 0.017 0.009 0.013
% NO3;—N (mg~ L) 0.68 0.30 1.3 1.3 1.3 0.3 0.9
E Org-N (mg./L) 0.52 0.76 0.66 0.39 0.76 0.39 0.58
¥ T-N (mg./L) 1.2 1.1 22 1.8 22 1.1 1.6

PO,—P (mgsL) | 0.027 0.046 0.025 0.038 0.046 0.025 0.034

T—P (mg~L) | 0.096 0.16 0.11 0.12 0.16 0.096 0.12

hnn7qha (Mg L) 17 61 15 9.9 61 9.9 26
21 snn40b (Mg /L) 2.0 15 0.8 1.7 15 0.8 4.9
z hna7 ke (Mg L) 34 <01 2.1 0.8 3.4 <01 1.6

JrABE  (HesL) 6.2 26 22 11 26 6.2 16

cl- (mg./L) 15 12 17 15 17 12 15
Z| Fe (mg./L) 0.49 0.90 0.83 0.82 0.90 0.49 0.76
401; D—Fe (mgsL)| <005 0.05 <0.05 0.06 0.06 <0.05 0.04

EC (mS./m) 21.0 14.2 19.6 17.3 21.0 14.2 18.0
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Hh &= No.20 (3 L #%EEER) FEHEE
o BEENREREHRE VS —

HAEBE 5A188| 8A17H| 11A168| 2228 _ _

BROKEFZ 11:05 11:00 11:05 11:01 "X b s

P 3 ] = & =

KR cc) 24.0 28.9 225 6.5

FREKE (m) 0.5 0.5 0.5 0.5

2KRE (m) 1.4 1.0 1.1 1.3

BHE (m) 0.6 0.5 0.2 0.4 0.6 0.2 0.4
—| K& cc) 20.0 28.0 15.0 7.9 28.0 7.9 17.7
I; p H 7.6 7.8 75 7.4 7.8 7.4 7.6
B| po (mg./L) 8.4 7.0 8.6 11.2 11.2 7.0 8.8

DO (%) 96 88 88 97 97 88 92

COD (mg./L) 5.8 6.2 75 6.0 75 5.8 6.4

BOD (mg/L) 1.6 2.1 3.4 1.1 3.4 1.1 2.1

Ss (mg/L) 20 19 51 34 51 19 31

KBEE  (MPNLoOmL)| 7.9E+02 | 1.3E+04 | 1.7E+03 | 4.9E+01 | 1.3E+04| 4.9E+01| 3.9E+03

NH,—N (mg/L) 0.01 0.03 0.23 0.03 0.23 0.01 0.08

NO,—N (mg- L) | 0015 0.014 0.021 0.009 0.021 0.009 0.015
#2| NO3—N (mg~/L) 0.77 0.22 1.2 1.2 1.2 0.2 0.9
E Org-N (mg/L) 0.66 0.58 0.79 0.56 0.79 0.56 0.65
|| T-N (mg/L) 1.5 0.84 2.3 1.8 2.3 0.8 1.6

PO,—P (mg-L) | 0033 0.043 0.023 0.029 0.043 0.023 0.032

T—P (mg/L) 0.12 0.11 0.15 0.12 0.15 0.11 0.13

hnn74la (Mg /L) 22 27 26 11 27 11 22
B | son74ub (Mg L) 3.0 6.2 3.1 0.8 6.2 0.8 3.3
Z hnn74he (Mg L) 3.4 <0.1 25 0.3 3 <0.1 1.6

JrA®E  (MesL) 71 8.5 34 16 35 7.1 17

cl- (mg/L) 16 14 18 15 18 14 16
| Fe (mg./L) 0.62 0.66 1.2 0.95 1.24 0.62 0.87
@ D—Fe (mgrsL)| <005 | <005 | <0.05 0.08 0.08 <0.05 0.05

EC (mS./m) 19.0 17.9 19.7 17.7 19.7 17.7 18.6
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BEEBHICET I VHERREREFHRERR

(R 2843 A 31 BERT)

EEiNei i B
LB FRBELELEE 247ha 150ha 97ha
EEMEEmEGEEmER) 165.3ha(67%)  95.8ha(64%)|  69.5ha(72%)
BERXBEmE(S%) 474ha 263ha 211ha
EE X% 45 26 19
EEHFRLER(S5) 52km 29km 23km
REHX R Hhig @ i
EEEEEE(BEXDE) 38.4ha(23%) 109.2a(66%) 17.7ha(11%)
e XK 3 24 18
ONHIZHITHIEEmEE
HBEA Gl BERS |iEEWEmE
D i WL\ W& 77.4ha
2R3 EiR™ 4.5ha
KENIHFRERH) BRI R 4 Hh i 2.5ha
ENE =5 2.0ha
EINH ==l 1.5ha
¥ A3 ERm . 0.9ha
¥ HA RIE™ B 1.5ha
it 90.3ha

- 223 -







